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OR (3121a1)
"Step cleaner is a good example of combination of
the action of opposing spikes and the beating

action" Justify it.

Y fee R faudia wrsew & T 3ix
fifew far & #a &1 fagrg SarEvwT 2
garidra & |

9. Explain with suitable sketch working of revolving

flat card.
6

RATATAT wle oIS &1 SuYaa v@r =T @«
T AT &N |

OR(3721dT)

Explain the relative merits of flexible wire and

metallic wire clothing.

Feladige aR 3R deifad aR difaT &
Imafares I[N B AT N |
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2019(0dd)

Time : 3Hrs. Sem -III/T.E.
Yarn Manuf.-1

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg uel & IR <, UAS U & 9H 4B 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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5.

Explain advantages and disadvantages of dead

weighting.

IS 9o & VN U9 QI8 BT ATAT X |

OR (3121an)
Explain pressure bar system of drafting.

SIS &1 <419 Bs Ugfd & AT & |

Explain proportion of hooked fibres in card sliver.
4

PIS F3AR A gas VHT & IUTd Bl ATl
B |

OR (3121a1)

Explain the influence of hook presentation on

comber fractionating efficiency.

DI BRI T&Edl R HATdT IRABIT
D AT N |

NT3040

(i)

(i)

(iii)

(iv)

3 1628304

At R &1 SuAT gar @
IR PER

(9) ABIRISS

(|) udire

(]) faER

Higher the number of bales, more uniform
is

(a) Yarn strength

(b) Yarn count

(¢) Yarn diameter

(d) Yarn quality

TS & AT SATGT 84 9, SATRT Udh
AT BT -

(31) art & wSrqd

(@) a1t BT B

(|) ot &1 Ay

(%) it @1 fagryar

The object of evener roller is to prevent.......
passing forward:

(a) Useful cotton

(b) Open cotton

(¢) Super flow cotton

(d) Process cotton
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(xx) BIFES HSR A WEIH HIS<H Bl
ditgs foar Srar 2 |
(@1 aifeal @ fag
(@) @ika & fog
(@) <errfica @ forg
(]) wwT=are & forg

GROUPB
Answer all Five Questions.
< . . 4x5=20
g ofg gl @ SR |
2. Explain Bailing process of cotton. 4

dicd o dfeiTT fafss o) e & |

NT3040

(vi)

(vii)

(vii)

(viii)

5 1628304

i 3R 9% HA d 729 &1
Fiffexor feas aea sar |7

(31) 99T & UBR

(@) ficrae & 9aR

(A) ©3 & PR

(]) < e¥ @ UBR

Mining is to obtain uniformity in............. of
staple:

(a) Diameter

(b) Width

(c) Length

(d) Texture

fAs1or BT ST I DY } qHEdT
AT 2 |

(31) e

(@) atsTg

(a) o

(%) g-Tac

The trash is removed by
(a) Case

(b) Opening machine
(c) Carding machine

(d) Drawframe
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(xv) QMY 9gd BT BT ?:

(xvii)

(xvii)

(xviii)

(31) @ arelr
(@) 9% B qrelr
(|) s

(%) fremaren

The combing improves the:
(a) Fibre configuration

(b) Fibre structure

(c) Fibre strength

(d) Fibre cohesiveness

ST YuR @t 2
(@) ©3 @ fa=ma ¥
(@) ®3 @ sd1Gc A
(W) ®g @ ufeq §
(?) ©3 & AHo H

The waste extract from a comb is called :
(a) Comb waste

(b) Noil

(¢) Linter

(d) Lint

NT3040

x)

(xi)

(xi)

(xii)

7 1628304

$UT AG3A H &l ©:
(a1) difvTe fparT
() ereral feara

(|) g fearT

() ¥her fe-rr

Weight per unit length of card sliver varies
along its:

(a) Length

(b) Weight

(c) Count

(d) Fineness

®1S YA &1 a9 9fd a8 es
9qadT :

(31) oraTE @

() 9o w

() ®S< |

() wrgTe @

The doffer rotates towards the :

(a) Final end of the machine

(b) Feed end of the machine

(c) Doffer end of the machine

(d) Coiler roller end of the machine

P.T.O



O'Ld

TouIA (P)
pudrg (9)
Toued) (q)
1ouadQ (e)

-:po03 AJOA © SI dwel MeI(]

Blob IP®DR (»)

Einb Rlhe (k)

L2h|E (B)

3% (1)

i Ibon |2

Dt D2 RRA| MR Ib Mhp b hAIE

ySrom 3ursuey (p)

yS1om pea( (9)

Sunyeiq (q)

Suimel( (v)

:Aq podewep

9q ued owely MeI(] ur s1d[jox doj oy J,

ReRba (b)

Beji> (B)

Re2h)IE  (B)

Be3IE (1)

é2 ID|2 MbIdP

¢ AR Phe| DhiE PD 1 hElE

y0€8TI1 6

(11%)

(%)

(a%)

(A1)

0P0€LN

sguriqno( (p)
s3urpuarg (o)

ssunyeIq (q)
sguimel( (g)

: JO sJoquinu
oy sjenbo weIymeI(] Y3 uo JeIp (€103 Y],

1R (»)

bl (B)

g (b)

bolas (k)

12 k2328 1 MBlie

L2y BRllz | ke lodl AR] GRG|

uy (p)
o9l (9)
pag (9)
umolr) (e)

oy 10y 1omod Jurpjoy
e A1ddns 03 st uonepunoj o Jo asodind ay .

2h M@ LRp RIS @ biak (2)
2h M@ dhs ¢ Llak (B)

2h M8 2k & bk (b)

2h Ma prle @ Lyak (k)

¢ bkh dab B) s

0V0€LN 8

(arv)

(%)

(1rrx)

(1)

P0€8TIL



1628304 17 NT3040

10. Explain the working principles of Draw frame

11.

machine. 6

siwd 739 & st yomell fRigia @1 e
N |

OR(372rd1)

(a) Explain drafting wave.
(b) Explain novel features of Modern Draw frame.

(a) ST¥ET A9 & AT BN |
(b) RTHA B IATE 0T B AT I |

Explain with suitable sketch working of sliver lap

machine.
6

139 oy 729 &1 SuYdd Y& & A
st fafer & aarer a |

OR(372rd1)

Explain with suitable sketches one complete cycle
of combing.

P.T.O
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10. Explain the working principles of Draw frame

11.

machine. 6

sipd 739 & s yomell fugia @« s
N |

OR (3721d)

(a) Explain drafting wave.
(b) Explain novel features of Modern Draw frame.

(a) ST 49 & AT BN |
(b) RTHA D IATE [T B ATEAT I |

Explain with suitable sketch working of sliver lap

machine.
6

TTsd oy w29 &1 Sugad YErfad @ arer
a1 fafer &) aarear a |

OR(3721d)

Explain with suitable sketches one complete cycle
of combing.
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